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1.t ==1.732 <2.0150, 45 Hy: u < 30, ALK X R SEMHASE A3 THER.

2. (1)5.629 < x? <26.119( x* =20.995), 5% H,, I\ Rk R & vk B % & 40§

(2) 12l =2.0663 <2.144 8, 425% H, , NN WKL 5 DIRTICA W2 28 4k, Rt AT LA
FE X 4432 80 5 1) B R EARE 252 i pnIk .

3. (1)(2.110, 2.140) ;. (2)2.15 ¢ (2.110, 2.140), ArLIE4e H,, AR fHLZ 1R
FERKESp, =2. 15 AREES

4. (1)(0,69.6398); (2)t =—1.935 < —1.645 = — z, s, FTLIFEHLS H, , N FZ%AKEEH
Az P IR 1 T — P fde R AT 55— P ke

5.1z1 =2.386 <2.575 =z, 45, ARIEAIRLIR, 252 Hy, BIAHE | ZWED IR
Y ESIIRES-PRIES-L S
B4 Hy , N RS Ty 58007 W s T S T R A
64 Hy, DR OB D IR R I T 2 B 2
(1)1 z1=1.96; (2)8 = P{1.08 < X <8.92] =0.921.
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10. n = 24.01, HIFEAZS /N 25.

11. a = 0.0668, B = 0.0668.

12. 2> =1.8455 < 7.815 = x305(3), 5% H,.
13. 22 = 1.667 <5.991 = x345(2), ¥% H,.
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